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let

fun f xy=x+y
let in
fun f xy=x+y let
in = val x =
f12 val y =
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X+y
end
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val x
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end
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let let
val x = M val x = M
. = .
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X * x x 3.14 M *x M x 3.14
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fun f x = let
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fun gy =x+y = val g = Closure(g_code, g_env)
in in
g X g x
end end
in val f_env = {}
f0 val f = Closure(f_code, f_env)
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end
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end
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goobobgbooboobudboobboboboobobbobobodobobgh1
O000000 fcode20 000000000 ODODOOOfcode20 0000 (#y env) + z
OO000OD0envOOD0O0OO0O0O0ODOODODOOOOODOODO envd fecodelDOODOODO
OO0000OOfcodelDOO0ODOO0O0ODOOOODOOODOOOODOOOOODOOODO
gbobbuooogbbbuoooobbboooon
gbouogbgobobboobbuodgbobuoobbuoobobuogbbuooooooon
gbogbobodbbobboobbooboboobuobuogbooboboobbon
0000000000000000000000 (booooooooooo)oooo
gbooboogbobooboogbobodgbobobbuoobbooboboboobboobon
gbobougobobuogobboogobbbooouobbooooobbooooboog
OO000000000g0 10000DO0 feode20000000ODO0ODOODOODOODOODO
gbbdghbhUOOooboogbbbuogbbooobbbooobbobboobobao
gbobouooobbboodgbbbuooobboooobbooobobboooboboboo
gboogobuogbbodbooobuogoboobboobooobuoonobodgon
gogoobbobbbbbbootbotbotouddddoooooooooooooooon
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goo

let

code f_code2 env z

(#y env) + z

code f_codel env x
let

val f_envil

h x
{y = y}

val f_env2
in
Closure(f_code2, f_env2)
end
val f_envl = {}
val f = Closure(f_codel, f_envl)
val g = f M
in
let
val env = #2 g
val z = 1
in
(#x env) + y
end

end

OO0D000gO 2000000 letd0000fcode20 0000000 envODOOOO
OO000DO00000DO000OenvO feode2O0 O OOOODOODOODODODOODOODO
OO000000feode2000envOOOOO0O0OD0OOOOOOODOODODOOOOODO
gooo

gobbobobbbbbtbdoodiooodoooooooooooooooo
googobobbogbooobuogobuogbbodboooooooboobobon
guogoobobobbbbbbbbbbbbbbotbooodooooooooooooon
gboogobuodbbgdbogoobobobuoobooobuoooboobobobon
gbogbobodboboboboobooobuoobooobuoobooboboobbon
goo

3.3 Uboooobooobooonbn

gbouogboobuogbgboooboobuoobbooboobbooboobban
gog
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godo 3.10bbogodgbbobuoooobbbuoooobbon

M = c(c € Const)
| =
| (21, 22)
|21
| 2[2]

| ATenp-ATgrg. M

| AT ATeny ATgrg. M

| Closure(xy, xs)

| Apply (w1, 22)

| if x then M, else M,

| let x = My in My (M #let ' = M] in M)

g3l 0bobgggboboogoboon

gbobooggoboooan

cbbooggg

xgooouooobooo

(x1,2) 000000 »,000000 200000000000
x[1]0 x00000000000000O0OO0OO0O0

2|0 x00000000000000O0OOOO0

AMLeny Mo MOOOODOODOO000000000000000000000000
000000000000000000000000000000000000 M
0000000%, 1000000000z, 000000000000

AL f Mony Marg MOOOO00000000 00 Aepy Ao, MOOOO0O00000
0000000000000000000000000000000000000
0000000000 MOOOO0000 MM, MOO0O0O000000000
00000000 «,00000000 Afdenv.darg. M 00000000000 M
0000000000000 02p 0000000000%,,000000000
000
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Closure(z1,2,) 00 0000000000000 000O0O0 ;00000000
U0 z000000000000000

Apply(xz1,2,) 00000000000 v, 0000 2, 0000000000000
gbboogogooog

if x then My else Mo O xO true0 000 M;O00false0000 M, OOODOOO
(true, false € Const)

letx =M i MOO M;ODOO0O0OxOODOOOODO M,OOODOOODOOOO
OMUOIletODODODODOOOOOOOODOODOD

0000000 A-npormal formO00O000000000OA-normal formO0O000000
gooooooooobooooodletze=M,in M, OOUOOM,OletO0O0O0OOOO
oooodoooodooooooooouoooooooooooooooooogo
Ooo0oooooooooooooootoooooooooooooooooooogonn
000000000 let00000000000O0DOOOOOOOBYVM)OO MOOO
O00oo00oooooooooogn 320000000000

0
0
0
0
0

BV (A2 A epy-AZarg-
BV (Closure(xy, xs)
BV (Apply(z1, z2)
BV (if x then M else My

V(e)
)
))
1)
2])
BV (AZeny. )\xarg M)
M)
)
)
)
BV (let x = My in My)

{Zenvs Targ} U BV (M)
{2, Teny, Targ} U BV (M)
0

0

BV (M) U BV (M)

{z} U BV (M;) U BV (M)

g 3200000000000

0 3300000000000b0000b00 70004
elxz1/x,) 000 e0 0000 00000000 2,0000000000D0ODOOO
00000000000 I03000 F,Ae0D0D00O0O00O0DOOODOOOO



let p=cin I(F,A'Je) if A= (p,e): A
I(F,A c) =
c if A=nil

letp=xin I(F,A"Je) if A= (p,e): A
I(F,A x) =
x if A=nil

let p=(x1,25) in I(F,A’,e) if A= (p,e):: A
](F,A, (1'171'2)) =
(21, x2) if A =nil

I(F,Azli]) (i=1ori=2)
let p=xfi] in I(F,A')e) if A= (p,e): A

xi] if A =nil

I(F, A, Aenv.\arg.e)
(1et e; = Xenv.\arg. (0, nil, e)
inlet p=-e,in I(F{p: (e1,e)}, A" ey) if A= (p,ey): A

| Aenv.Aarg.1(0, nil, ) if A=nil
(
let p = Af.Xenv. Aarg.l(0, nil,e)
n I(F, A’ if A= n A
I(F, A, \f Aenv.\arg.e) = < in I(F, 4 e1) ' p,e1)
\)\f.)\env.)\arg.f((l), nil, e) if A= nil
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I(F, A, Closure(xy, x3))

S

(let p = Closure(xy, xs)

in I(F{p: (e2,m2)}, A’  e1)

let p = Closure(xy, )

in I(F, A’ e)

| Closure(ry,x2)

I(F, A, Apply(z1, x2))

(if env = ¢
then let envy = 1[2]
in I(F, A, es[xzo/args])
else I(F, A, exlenv/envy, xo/args))

let p = Apply(zy,z2) in I(F, A', e;)

let p = Apply(x1, z2)
in I(F{p: (e2,¢)}, A e1)

Appl?/(xl, 5U2)

22

if A= (p,e):
and F(x1) = (e, env)

AI

if A= (p,ey) n A
and x; € dom(F)

if A= nil

if islinline(Apply (1, x2)) = true
and F(x;) = (Aenv;.\arg;.eq, env)
where \evny.Aargs.es =

replaceV ar Name(Aenvy. \arg;.eq)

if isInline(Apply(xy,x3)) = false
and A = (p,e;) 0 A’
and GetNextCode(xy, x5, F) =¢

if isInline(Apply(xy,x3)) = false
and A = (p,e;) 0 A’
and GetNextCode(x,xo, F) = ey

if isInline(Apply(x,x3)) = false
and A = nil



I(F,A,if x then e, else ey)

(Jet p=if x then I(F,nil,ey) elsel(F,nil, es)
_Jin I(F, Al e) if A= (p,e): A
\if x then I(F,nil,ey) else I(F,nil,ey) if A = nil

I(F,A)let x = ey in ey) = I(F, (x,e3) :: A, e;)

U 33 b0buguoboooogn

ecJUDOUUOODLDDODDOOUOOODLDDLDDOOO
e FOOODODDODOOODOOOOO (Nenvdarge) 00000000000 OOODOO
gbboobuoggbbooooobbbooobboboooobobobuoenbon

O000dom(F)O FOOOOOODOODOOOOOOF{z: (e,env)}00F O z : (e, env)
goodoooooboobbooo

ooOoborFroOoboboboboooboboboobobooobobooobobooobo
gbgoboboobboboobbobboobouodboobobboooboan
gboboogobobuogobbogoobboooobboooooboboooooa
gboboouoogon

e ADDOOOOODDDOOOODODODOOODNIOODOOOOOIODDODOOOOO
nil 0000000000 let000000DO0O0DO0OO0DOODOOODOOOOOOD
gbbooooobbogbuooodgbbouoooobbogn
letx =e1ine, DO 000 200 e, 0000000 1000000

goadad
M =I(F, (z1,e1) :: (wa,€9) i -+ 22 (Ty, €,) 2 nil,e)
goooMOObOoOoooobobooooo

let 11 —en
let T = €1 in

let ©, = €,_11in

€n

23



0000000 (p,e) 0000000000 A DODOODOOOOOO (p,e):A’0
gobooo

O00ABV(A)DDODOODOOOOOOOOOOO

ABV(nil) = 0
ABV ((z1,e1) : A') = {21} UBV(e;) U ABV (4)

O00000 A-normal formO0000000000O0DOOC0OODOO
gboboouoogon

let x1 = Xenv. Marg.let y =11 y in
let x5 = (0,0) in

let x3 = Closure(xy,x3) in

let x4 = Apply(zs,0) in

X4

000 Apply(x5,0) 000 0000000000000000O0!et x4 = let y =
limyinx, 0000000000000 D0O0O0OOO0O A-normal formO 00O 0O
0000000000000 0DO000 ADODODOOOD

0000000000 e000000000000O0DOOODOO I(B,nil,e)000000
gbobbogggoboboooooobuoog3sgnooobooooboobod

e replaceVarName(Aenv.Aarg.e) 0 env, argd0 00 e 000 00000000000
guoddooooobbbbbooooooouobobobbbbbuooooo

gbboogobbuooobbuooobbbouooobboooobboobooo
gbobodogoobogoobbooobbboobobuooobbuoooboa
gbbbouogbobbuoooobbboogbbbbuooobbobod

e GetNextCode(zy,zs, F) O Apply(z1,2,) 00 000000000000000000
0000000000000000000000000000000000000
Apply(z1,2,) 00 00000000000000000000000 0000

e ishnline0 0000000000 DO0ODO0ODOODOODOOOODOODOODLOODODOODOO
gobddgboodgubogubboguboogboobooobobooonboon
O00000000000000000000000OésInline(Apply(zy,xs)) = true
000000000000000 x€edom(F)0000O0O0O

gbobooogobodooan
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e c=c00O
A:(pl,el)::A’DDDDDletDDDDD chIDDDDDDDDDDI(F,A’,eI)
00000000000 0A=nl0000000O0 cO0OOOoOonO

e c=x0O0O
A:(pl,el)::A’DDDDDletDDDDDxDpIDDDDDDDDDD I(F,A’,el)
0000000000000 A=nl0000000O0x0ooooo

[ ] 6:(I1,$2)DDD
A= (p,e) = ADO000ltD0000 (21,20) 0 p, 0000000000
I(F,A,e) 0000000000000 0A=nl 00000000 (x1,20)000
gdd

ec=zil000 (i=1lori=2)
A= (p,e) 2 ADD000O0let00000 2i]0 0000000000 I(F, A e;)
O00000000000000A=n 00000000 <[ 00000O0

e ¢ = )lenv.darged 00

A=(p,e) 2 A000D000O0ODOOOOODOOOOOOOOOOOOODODOOT
O000000ee0000000000D000DOO0ODO1000DO0DO0OO0ODO0OO0
O0000F=00A=n000000000000let00 0 p, 000000
000 I(F{p:: (es,e)},A,e;) 000 0000000000000 0 e, 00000
OO0 0e;000000000FODp :(e0,e)00000000000000O0O
00 0000A=ni0000000000DOO0ODOOODOOODOODOOOIDOO
OO0o0O0DoOOooooogo

e e = \fdenv. Aarg.eD 00O
A=(p,e) = A00D00000000 denvdarge0 0000000000000
e, 000000000000 FO0O00O0DO0OODOOODOODOOp, 0000
O000000000000000000D0D000000000Nooooononon
O000000D00000D00000000000D0000ODonooooonog
D0D00A=nl000000000000D0O00O0D0O00OODO0OODOI0O0
Ooo0000Ooooog

e ¢ =Closure(xy,z5) 000
A= (p,e) 2 AD0z €dom(F)DO0O0let0O0000 Closure(zy,z2) 0 p O
000000000 I(F{p: : (es,22)}, A',e) 000000000000 0000D0
OO0OFO py:(e0,20) 000000, 000000000000, 0000000
O0000000e0 FOOOODODOOOOOn ¢dom(F)0000O0OOO0ODOO
goooobobd FO0DDbOOO0OObObOO0ODObDObODbDbOObODbDObODbbOObODbLDbO
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00000000000000000A=nl000000000 Closure(xy,xs)
gooodd

e = Apply(xy,2,) 000
0o0d4000000oooodooooooooooouooooooood
Ologdodooooo

O00000000000000 Apply(z,,2,) 0000000000000 OOOO0O
oobooooo FOD0DOODOD x»O000DbO0O0b0bO0o0bOo0bbooobon
gbobododgobbodgobboobobbuooobboooobbooooooa
oboboooboobbobborooboobobboobooboboobon
gboboogoobogobboooobboooobouooobobooooooa
Oz00000000FO00O0DOO0DOO0ODOOOODOODOO 000000
gboboogobooguobboggobbooooboooobbuooobooa
OoO0o0o00oDboO FrAOOOODOOODOO0OOOODDO IDODbOOODO
roooboobobobobob0obUodbuobt 002000000000 let
goooboobbobbbbbbbbbobobobobbbbbobobbbbbbbobo
gbbogudbboobuogobudbbod b0b0gbbuogboooooog
O0OFA0D0OOOCO0O0ODOOO0O0ODOOO IOD000DOOOOUOOoDbOOoOo
OO0O00oO0b0o0o0obbO0O0 F,A00DO00DOO0bDOo0obooooob I00DO
O00000000000000000000 A-normal formOO000000O0
gbobuogbuodbuogbogbboboboobuoobboobobobboobooon
gbbooogbobboooobbbooooboo

2000300000000A= (p1,e;) : /0000000 Apply(z,2,) 00000
isinline 00 0000000000000000000000000CO00O0000
let00000 Apply(zr,2.)0 p 0000000000 I(F,A,e,) 0000000
00000000000F 00Apply(z,2,)000000000000000000
00000000000 00000000000000000FO p,0p, 0000
000000000000000 F'=FO0000

00000000000000000A=nl 0000000000 Apply(zq,x2)
goboboooogogn

e =1if x then ey else e;o 0 00

A= (pe) - AD00D00D0eD0DD e,ee 0000000000 DOOOOOOOO
Olet00000p000000O000O0O I(F,AeDOOODDODOOOOOOOOO
A=nil0000e000e,e, 000000000 DOOODOOODOOODOOODODOO

e—letx—e ine, 000
I(F,(x,e5) : A,e)) 000000000000 00000AOOOO (z,e) 000
0000000 0 000000000000000O
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goboboIlobooboobgoboobobooobobobobobobooooobobog
ooobdoboooooboboobobuoboooboboobboboobouobooob IO
oboooobbooboboroobboobboobboobboobooooboobog
gbobobuoogobbboooboboogobbbuooobobobod

let 1 = Aenv.\arg.e;
in xy = (xq, My)

in x3 = xo[l]

in x4 = Closure(xs, My)
Apply (x4, M3)

MOOODODODODODOOOODOOOOOApply(x,, M3) 000000000000 240 FO
0000000000000 000000001I00 xw¢dom(F)DO0OO0O0O0OOOO
gbobbodbuooobuoboooobbooboobbodoboobobodobbon
oooboooooboboobooobo Iocboboborobooboboboboboobo
gboogbugbbuooboboobouobboobbooboooboboboon
gboboboogobboooobobod

3.4 OOO0OOOO0OOO

gobodg 33dubbuoggguobougoobbobooonoobooon

3.4.1 0OO0OOOO

gobobogogoboooooobogg
gbodb-roggobbodgo

T:=b|T—=71|7x7]|Code(r,T) | L

bOODODODO000O000000c:beConst0000000n 700700
000000-»0000000000rxn00r070000000000Code(r,T)
000000 »,0000000000000000R”x»,0000000000000
000000000001 00if00000000000000000000000

000 eO0O0goorooo-oooooog
I'>se:r

0000000000000 000ooooooooooooo0dom()0OODOO
gboboodgobbogo
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gbbouogobbtooooobbuoooobbbuoooobbbuoooon

O000I'>e; :m,

I'ber:m I'>des:m I'be,: 7,

I'>se:r
I've,: 7, OO0000O00O0OMre: 700000000000

Oboooododrese:s00000000O0O0O0OOO0ODOO0ODOODOODOO
ooobooobooboobon 340000

(const)

(var)

(prod)

(proj)

(code)

(reccode)

(closure)

(app)

(env)

(if)

(let)

I>c:7 (c:7 € Const)

Me:r}ox:7

I'vx;:m Tbag:m

[ (z1,20) : 71 X Ty

Fl>a?27'1><7'2

o lori—9
Iozfi]:n ( ori=2)

{env : Tepy,arg: T} >e: 1
['> Aenv.\arg.e : Code(Ty — To, Teny)

{f : Code(Ty = To, Teny), €NV : Tepy, arg = T1} > €1 Ty
> Af.denv.Aarg.e : Code(Ty — To, Teny)

r >x Code(ﬁ — TZ;Tenv)
['> Closure(xy, xs) :

I'>zy: Tens

(11 = T2) X Teny

Loz (1) = 7)) X Tepy [>xo:m

['> Apply (w1, z9) @ 7

[>e:(r — T2) X Teny
be:(r —m) x L

I'bx:bool T'be :7 I'bey:T (true : bool € Const

false : bool € Const)

['>if x then ey else ey : T

Ibep:n T{r:nlve:n

I'blet x =€ iney 1

U34: 0000000ooo

00 (code)d (reccode) OO ODDOOOODOOOOOOO0OOOOODOOOODODOODOO
gbbuogoobbuooobobbuooobbuooobboudid bl 0000
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gboobgooobuoobbuoobbodobbbooobboboobbooboon
googobuogbbodoobuobuogbooobobbooobuoooboobobon
f)0000000000000000O0OO0O0O0

Toz:bool Toe:(r —m)xm Ibey:(n —m) X1y

eiUe, 0000000000000 0e, 0000000O00ODOOOO (if)000OT >
if v then ey else es : TOO0O0DO0DO0D0D0O00OOOODODODOOO Apply000000
O0000000D0000000D00.f000000000D00O0000O0 Apply0 00O
O00000000000000000000 (env)J00O0O0O0D00OODO (env)0OD0DOO
00000000000 LO0000D00000000Db0000Db000e,eo0000
000000000000 0D00DO0bO0O0D0OooDOoog

F[>61§(7'1—>7'2)XJ_ F[>62:(7'1—>7'2)XJ_

gobob Lbobbogooboboogobobuoogboboboooobooboobooon

3.4.2 0OJO0O0OOOOO

0 33000b0b00bob0booooboboobb s4bb00bobooobobd
goo
gbobooodgbobbuoooobbuooogbbbuooon

00 3.1 0000>e:700000>1(0,nile): 70000
goddoooooboobbbboooooooogoo

00 3.1 000Tpe:7000x¢dom(l) 000 {z:7"}pe:70000
000OCse: 7000z €dom(l) 000000 000002 ¢ dom(I")000000
Frulve:70000TUINYOOTO IMODODOOODDODOOOODOOOOOODOOOOO

00 3.2 0000>e; ;70000 eq,eo0 000000 I'bey:7000O0
00 3.3 000 {xy:n}ire:n 000bz:n 00000 >e[r/24]: 0000

go3bugbobouodgbuaobuodbooobobbooboobooboobagbo
gobobuodgg200b0bo0ogoon

00 34 M=1I(F,Ae)00000000N0000000 8300000000000
O00rsM:7,0000

00 1 Teep:70000
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00 22 € dom(F)D00000 ¢ 00000F(z) = (emenw) 0000000000
0o

Oenv=¢ 00

00 Tepy, 7, 7o 0000 e, : 7. 00> : 7,000 7. = Code(ry — Tor, Teny) 0000 O
O00000T>e. : Code(Tir — Tor,Teny) DO O D2 @ (T = Tor) X T, 01000000
e.=Xenv' Aarg’. e OO0 O0O00O0O

Oenv#e00

00 Teny, 7, 2 OO0 00T b e 0 Code(ryr — Ty, Tenp) DT > 0 (T — Tor) X Tep, 000
benv: T, D000000e, =Xenv' dargd . OO0 00000000 envd 000000

00 8 A= (p1,e1) == (p2,e2) it -+ it (Ppyen) momil  (n > 1)0000V; = ABV(A)
OV, = BV(e,)OV = V,UV,0 000000 V000 %OOOODO0000000000
O0OViD V00000000000 0xzeVOOO0O00 200000z ¢ dom(T)0000
00 {p1:mo}rer:mn, T{p1:7mo,p2:m}res:m, ... ,I{pr:im, ... \pn:Tna}tben: 1,
ogoooon

00 3.5 M=1I(F,Ae)00000000TIN00000ODO0OO 80000000000
oodrsM: 0000

00 4 I'bey:moddond
o0 5§00 24000 20000

00 6 A=nil0000V =BV(ep) JODODOODOVOOODODODODDODOODODODOOOO
OreVOOOODOO 20000 xz¢dom(l)000O0

(O00]
00 34000 350000000000 I0b000O00b0ObODO0oO0bO0obOobDOoOobOog

00000000 Troo00ooooOM=I(F,Ae) 00000000 33000000
O O replaceVarName O 00 O getNextCode D D O D000 0O0OOO0ODOO0ODOOO

O replaceVarName O O 0O 0O

000 e0000¢€ =replaceVarName(e) 00D 000000000000 0O00OO
e0000000000DO0O0DO00O0ODOO0ODOO0OO0ODOOed 000000 OOOO
O000000000000000000000V; =ABV(A)U BV (ey)OV, = BV(e)O
OOoO0O0Vw,O0OOODODOooDooDOooooowolv,0DOOOoOoODOoooOoooOOx eV,
000000 2z0000xz¢dom(IN 000000000000
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O getNextCode 0 0O 0O O

getNextCode D0 00000000000 D0OOD0OO0O0OOOOOe = Apply(xy,z2) 0
0000 OgetNextCode(z,, 22, F) = e(e £e)00000000000000000000
Apply(x1,2,) 00 0000000000000 OOOOOOOOOOOOOOOOOO0O
O000000e#e00 Apply(x,2,) 0000000000000 > Apply(xy,29) : 7
0000000000000000000000 70,71, Tene D000 7 = (79— 71) X Tone
O000000000000000 (19— 71) X Teny D O Closure 0 O O Code(ty — 1, Teny)
gdoooodoouoooouo g, oo ouooououooooo
00e000000D000000000000000 be: Code(ry — 71, Tony) 0 0 O
O00D0D0D0D00000000000e =Xenv" Aarg'.e 000000

el 340000
M=I1(F A e) 00T 000000000000, 00000000 0OOOOOOOO
HEN

epc =cldn
A = (p1,e1) = (po,ea) i -+ it (ppyen) = nil (n > 1)0 e : o000 {p :
or>e i1, p1:1o,p2 eyt ...  T{p1:m, ... ,Dn:Tnatbe, 7, 0000

A= (p,e) - A0DD00DO0ODDOOOOOOOOOOI(F,A,¢c)=letpy =cinI(F,A e)
O0000000AOOODOOOODOOnOO0O0DO0O00O00O0OO0O0OOOOOO

n=10000 A =nl000000000 3100000 350000000 T0p;:70}
O00000O0OM =I(FOnilDe;) D0O00O0OODO 4000 5000 6000000 OO
00000000000y : nn}>I(Fnile;) : n 0000000000 0O0ODOOO
I>letpy=cin I(Fynile;) :n 000000 >I(F,Ac):n 000000

n>20000 A’ = (pg,e9) it -+ (pnyep) il 000000000 3100000
34000000070 {pm:7}000000M =I1(FOAQe;)) 0000000 1000 20
00 3000000 0000000000000 py :m}>I(F A'e): 7, 00000
0000000000 slet pr=cin I(F,A'e)): 70000000 I(F,A,c): 7,0
googo

Oeg =000

A = (p1,e1) = (po,e2) oot (Pnyey) mnil (n>D0T>x: 0000 {p; : 0}>e:
T, [{p1 : 10,02 : m}>es 1, ... \T{p1 : 7, -o. ,pp @ Tha}Pe, 7, 0000
A=(p,e)) = ADO00DDOODOO00000OO0I(F, A, z) =letp, =z in I(F, A, ;)
O0000000AOOOOOOODODOnOO0O0O0O00000O00O00O000

n=10000 A’=nl000000000 3100000 350000000 T 0 p;:70}
O000000M =I(FOnilOe;) 0000000 4000 5000 6000000 OO
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00000000000y : nn}>I(Fynile;) : n 000000000000 DOOO
I>let py=xin [(Fynil,e;) :n 000000 I(F,Az):n 000000

n>20000 A’ = (pg,e9) it -+ (pnyep) il 000000000 3100000
34000000070 {pm:7}000000M =I1(FOADe;)) 0000000 1000 20
00 3000000 0000000000000 {py :m}>I(F A'e): 7, 00000
0000000000 sletpr=xzin I(F,A'e):7, 0000000 I(F,Ax): 7,0
gooadd

Oeg = (x1,22) 000

A = (p1,e1) = (po,e2) = -+ it (Pnyen) =il (n > 1O > (z,29) : o000 p :
Tor>er 1, [{p1:70,p2 :m}pes it .. ,T{p1 7, ... ,Pn: Tuoi}bey: 7,00
O0A = (p,e) 2 ADOD0000000O0OO0OODOOOI(E A, (x1,22) = let pp =
(x1,29) in I(F,A',e;) D00 O00000AOODOOOODOOCOn000O0O0O0O0OOO
gad

n=10000 A’=nl000000000 3100000 350000000 T 0 p;:70}
O000000M =I(FOnilOe;) 0000000 4000 5000 6000000 OO
O00O00o0ooooOi{py : nn}>I(Fynilye;) : n 0000000000 OODOOO
['>let py = (x1,22) in [(Fynil,e;) :mn 000000 I(F, A, (21,20)) 000000
n>20000 A’ = (po,e9) -+ (Pmyen) =il 000000000 3100000 34
0000000 {pm:7000000M =I1(FOA'De)0000000 1000 2000
3000000 0000000000 ooOi{p:n>I(F,Ae): 7, 00000000
0000000 >let py = (z1,29) in I[(F,A',e) : 7, D00 O00OOTSI(F, A, (21,22)) : Ty
gooooo

Oeo =2z 000 i=1ori=2)

A= (p1,er) :: (pa,e2) vt (Pnyen) =il (n>1)0TC>afi] :me 000 {p;: 0} ey :
7, [{pr:10,p2:m}pes:mo, ... , T{p1:7, ... ,Dn:Tn1}re, 7, OOO00OA = (pr,e1)
AD00D000D0000000000I(F, A,z = let pi = ali] in I(F,A',e;) 0 O
O00000AODOOODOOODOOn00O00O0DOO0O0DOOODOO

n=10000 A =nl000000000 3100000 350000000 T0p;:70}
O00000O0OM =I(FOnilDe;) D0O00O0O0ODO 4000 5000 6000000 OO
00000000000y : nn}>I(Fynile;) : n 0000000000 0O0ODOOO
T let py = xli] in I(Fynil,e,) : m 000000 I(F,A,2[i]):n 000000

n>20000 A’ = (pg,e9) it -+ (pnyep) il 000000000 3100000
34000000070 {pm:7}000000M =I1(FOAQe;)) 0000000 1000 20
00 3000000 0000000000000 py :m}>I(F A e): 7, 00000
0000000000 Tslet py =afi] in I(F,A',e,) : 7, 0 0000 0T > I(F, A, 2[i]) : 72
goooog
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O ey = Aenv.Aarg.e ] [ [

00 7o O, OO O0OA = (p1,e1) 2 (pa,e2) i -+ = (Ppyep) nil (n > HOT >
Aenv. ) arg.e : o019 = Code(ty — Ty, Teny) DO M{py : 7o} >ey : 1, T{p1 : 10,02 :
ny>es i T, ..., 0{pL T, . Pt et be, T, 000000000O0D0O0O

OO0 {env : Tun,arg : o} be 7 000000000000000 350000000
{env : Topy,arg : 7,} 000000 M = [(00nil0e) DO0O0O0O0O0O 4000 5000 6
000000 O0D0000000000{env : Tew,arg : 743 > I(0,nil,e) : 7, OO
000000000000000TC > Xenvdarg.I(0,nil,e): Code(t, — Ty, Teny) 0 0 0 0
e, = Aenv. arg. I(O,nil,e)d A = (p1,e;)  AODO0D00DO0O00OD0ADOOOOOOOOOn
guooooooobooobd

n=10000 A’=qnil0000p; €dom(I) 000000 310000 {p;:1o}>p1: 70
DO0OT{p::m}be,: 000000000 3100000 350000000 D{p, : 7}
D000D00M =I(F{p: : (es,e)}0nille;) D000 DO0 4000 5000 60000
00 0000000000000 : )5 I(F{p : (eae)},niley) : 000000
O00000000T>let pr =eq in I(F{p:: (eq,€)},nil,ey) :n 0000000000
O0000000000I(F, A, denv.\arg.e) = let py = e, in I(F{p; : (ea,€)}, nil,e;) O
00000 I(F, A denv.darg.e):n 000000

n>20000 A’ = (pg,e2) i+ (Pn,en) =il D0 00p, €dom(I)0O0O0OO0O 3.1
0000 {p;, : ro}ep1 : 0000 {p; : To}re, : 7000000000 3.100000 3400
00000 T{p:: 7} 000000M = I(F{p: : (ea,e)}0A'0e;) 0000000 1000
o000 300000000000000000000p;: o}sI(F{p: : (ea )}, A1) & 7
000000000000 000T>let pp = e, in I(F{p: : (€4,¢)}, A" ey) : 7, 000
O000000000000000000I(F, A, denv. ) arg.e) = let py = e, in I(F{p; :
(€a,€)},Alyer) DODODOOOD>I(F, A denv. darg.e) : 7, 000000

Oeg = Af.Aenv.Aarg.ed 00

00 7o, O, OO O0OA = (p1,e1) 2 (pa,e2) i -+ = (Ppyep) nil (n > HOT >
Af.denv. \arg.e : o0 1y = Code(Ty — Ty Teny) DO {py : To}>ey : 1, [{p1:70,p2: 71}
€y : Ty oo S P17, oo yDn i Tao e, OO 00A = (p,ey) 2 ADD0D0O0O0OOOO

O0000000I(F A Af.Xenv. \arg.e) = let pp = Mf.denv. Xarg.I(D,nil,e) in I(F, A’ e;)
O000000000000000{f :1,env: Tew,arg : T} >e:7 000000000
000000 350000000 {f : m,env : Teneyarg : 7} 000000M = I(0
OnilDe) 0000000 4000 5000 6000000 0000000 ODOODOOO
{f : 10,env : Tepy,arg : T} > I(0,nilye) : 7, OOO00000000O00O0O0O0O00OT >
Afdenvdarg I(D,nile) : D0 0D00O00O0ADODODOOOOOn00O00OO0OOO
ogoogo

n=10000 A =nl000000000 3100000 350000000 T0p;:70}
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O000000M =I1(FOnilDe;) 0000000 4000 5000 600000000000
000000000 p: : }sI(Fnil,e) : n000000000000000slet py =
Afdenv. darg. L(D,nil,e) in [(F,nil,e;) :mn 0000000 I(F, A, \f Aenv.\arg.e) : 1y
gooooo

n>20000 A’ = (pg,e9) it -+- 2 (pnyep) il 000000000 3100000
34000000070 {pm:7}000000M =I1(FOADe;)) 0000000 1000 20
003000000 0000000000000 {p; :7}>I(F, A e): 7, 000000
O000000000TC et pr = Afdenv. Aarg.I(0,nil,e) in I(F, A" e;) : 7, 000000
I'>I(F, A, \fdenv.)\arg.e) : 7, 000000

O eq = Closure(zy,z2) 000

00 7o 0, OO O0OA = (p1,e1) 2 (pa,e2) = -+ = (Ppyep) nil (n > HOT >
Closure(xy,x2) : 00 70 = (Ta = ) X Teno L {p1 : o} > ey 1, T{p1:70,02: 1} >ey:
Toy won S I{p1 71, «oi Pt ThatPe, 7, 0000000000000 0OOC > 24 :
Code(Ta = Ty Teny) O T > g @ T, D000

O0000dom(F) 0000 AQOODDODOOOOOn0000O0O0OO0OODODOOOO

1 € dom(F)O0O0On =100000F(x1) = (eqyeny)JA = (p1,e1) = A'00
O00A =nl000000000000000I(F,A,Closure(zy,z2)) = let p1 =
Closure(xy, x2) in I(F{p; : (€4, 22)},nil,e;) 000000 000OTe, : Code(Ty — Th, Tenw)
O000p €dom(D) 000000 310000 {p; : 7o}>p1 : 70T {p1 : To}>e, : Code(r, —
Ty Tens) DO OT{p, : 7} b2 : T 00000000002, 00000000000
0 3100000 35000000000 p : n}000000M = I(F{p, : (s, x2)}
Onil0e;) 0000000 4000 5000 6000000 DOOODOOOOOODOO
T{py : o} 0 I(F{p1 : (ea,72)},nil,e;) :m 000000000000 D0OO0Or et pp =
Closure(xy, xs) in I(F{p1 : (€q,z2)},nil,e;) : 7y OO0 0O O0OTSI(F, A, Closure(zy, z3)) :
GRERERERERERE

x1 €dom(F)000n>200000F(z1) = (€q, €ene) DA = (p1,61) = ADDOODO A’ =
(p2,€2) i+ (pnyen) nnil 0000000000000 DOOOI(F, A, Closure(zy,z3)) =
let p1 = Closure(zy, xs) in I(F{p; : (eq,22)},A',e;) D00 00000OO>e, : Code(r, —
Ty Teny) D00 0p, ¢ T)DD0O0000 3.10000{p; : 7o} >p1: 0T {p : o} >eg :
Code(Ts — Ty, Tens) DO OT{py : 7}02 : Ty 000000000 02,000000000
000 3100000 340000000 I{p, :7}000000M = I(F{p: : (ea, 72)}
O0A'Oe;) 0000000 1000 2000 3000000 OD0ODOoOoOoooooooo
D{p: : 7o} o I(F{p1 : (eq,w2)},A'ey) : , 000000000000 00 > let py =
Closure(xy, x2) in I(F{p; : (éa,x2)}, A'ye1) : 7, 00O O OO I(F, A, Closure(xy, z3)) :
- 000000

2, &dom(F)000n=100000A=(p,e) : AD0D00A =nil000000
0000000000 I(F A, Closure(ry,xs)) = let p1 = Closure(xy,xs) in I(F,nil, e;)
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000000000 3100000 35000000070y : }000000M =
I(FOnilOe;)DO0O0OODOD 4000 5000 6000000 ODO0O0DO0ODO0DO0O0OOO
O0T{p: : o} > I(F,nil,e;) : m 0000000000000 O0O0OCOOLC >let p1 =
Closure(xy,x9) in I(F,nilye;) : m 0000007 I(F, A, Closure(zy,x9)) : 1 00O
gad

1 € dom(F)OOOn >200000A = (pr,ey) = AODODDOOOA = (pg,e9) =
ot (ppyey) nndl 0000000000000 0O0OI(F,A,Closure(xy,xs)) = let p; =
Closure(w,x3) in I(F,A',e;) 000000000 3100000 340000000
{p:7}000000M=I(FUOA'De;) 0000000 1000 2000 3000000
0000000000000 p,:n}>I(F,Ae): 7, 0000000000000OO
I'>let py = Closure(zy,z2) in [(F, A" e;) : 7, 00 0000OTSI(F, A, Closure(xy,x2)) : Ty
goooog

Oeq = Apply(z1,x2) 000
isInline(Apply(z1,20)) 00 0000000000000

1) isInline(Apply(z1,x9)) = true 0 0 0
A = (p1,e1) = (pa,e2) i -+ it (Pnyen) = nil (n > 1)OT > Apply(zq,22) : 0000
T{py : o}per :m, T{p1:7o,p2:m}t>es:m, ... . I{pr 7, ... ,pn: Tu_1} ey :
7, 00000000000000000 70 00000 b 21 : (s — 7o) X Teny O
O0C>xze : 7, 000 0isInline 000000z, € dom(F)OO 00 F(x1) = (eq,env)
000000000 e, : Code(r, = To,Teny) 000000 e, = Xenvy.Aarg;.e O
0000000 replaceVar Name(Aenvy. Aarg;.e) 00 00 0O 0O Aenvy. Aarge.e' 00 000
replaceVarNaeme D0 0000 3200071 > Aenvg.Aargs.e’ : Code(t, — To, Teny) U
000000000000 00{envy : Tew,args : Tp>e 0000000000
envy & dom(I') 00 Oargy, ¢ dom(T) 00000000 310000 envy : Tepy, args :
Ty e 0l {envy @ Tt >z : 7, 0000000000000 00O0O 33000
[{envy : Teny} > €za/args] : 0000

O000env000000000000env =e0000envy € dom(l)O0O0OOO
0000 3100000 340000000 INMenwy @ 7} 000000 M = I(FOA
Oe'[zo/args]) 0000000 1000 2000 3000000 0000000000000
[{enve : Teny } > I(F, A e'[xg/argy)) - 7, 000 000000000000 >2[2] : Teny O
00000 let envy = x1[2] in I(F, A, €e'[xs/arg)]) : 7, 00 000000000000
O0000000I(F, A, Apply(xy,x9)) = let envy = x1[2] in I(F, A, e'[xs/arg,]) OO0 O
O0C>I(F, A, Apply(zq,29)) : 7, 000000

O00env #e00000000000env0000000000ON>env @ 7., 0000
0000 3.30000>e[xe/args, env/envy] : 0000000000000 340000
000 T000000M = I(FOADe [xe/args,env/env,])) 0000000 1000 2000
3000000 0000000000000 >I(F,A,é[zy/args, env/envy]) : 7, 0000
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0000000000000 00I(F, A, Apply(xq,x9)) = I(F, A, €'[xy/args, env/envsy])
000000 I(F, A, Apply(z1,20)) : 7, 000000

ii) isInline(Apply(z1,x2)) = false 00 O

A = (p1,e1) = (pa,ea) oo (Ppyey) mil (n > D)OT > Apply(xq,x9) + 00 T{p; :
or>e 1, {pr:m,p:m}re:im, ... . M{pr:m, ... \pn:mma}re,:7, 0000
0000000000000 70, 0000T b2y : Code(ta — To, Tenw) D T > o 1 7, 0
oo

000 GetNextCode(xq,2, F) 0000 ADDDODODODOOOn0000000ODOO
ogoodgo

GetNextCode(z1,79, F) =c000n=100000A= (p1,e1) s ADODDODOOA =
nil0000000000000000I(F, A, Apply(z1,xs)) = let p1 = Apply(xq,x2) in
I(F,nilye;)) 000000000 3100000 3500000000 {p:70}0000
O0M=1I(FOnille;) 0000000 4000 5000 6000000 O00OOOOO
0000000 {p : nysI(Fnile) : n000000000000000C > let p, =
Apply(x1,29) in I(F,nil,ey) :m 000000 I(F, A, Apply(z1,22)) - 000000

GetNextCode(xy, 29, F) = 000n >200000A = (p1,e1) = AD0D000O A’ =
(p2,€2) -+ (ppyep) »nil D0 D000 000000O00O00OI(F, A, Apply(x1,x9)) =
let p1 = Apply(z1,22) in I(F,A',e;) 000000000 3100000 34000000
O{p:7}000000M=I(FOA'Ue;) 0000000 1000 2000 30000
00 0000000000000 {p, :o}rI(F,Ae): 7, 000000000O0O00OOCO
O0Cslet py = Apply(xy,22) in I(F,A',eq) : 7, 0000 O0OTI(F, A, Apply (21, 22)) : 7
ogoooon

GetNextCode(z1,19, F) #e000n=100000GetNextCode(xy,x9, F) = ¢,0A =
(p,e1) = AOD000 A =nl0000000000000000I(E A, Apply(wy,12)) =
let py = Apply(z1, x2) in I(F{p1 : (eq,€)},nil,e;) 0000 GetNextCode D D OO OO0
O 7o, 7, 7.0 0007 = (1, = 1) x7. 0 000>e, : Code(r, — 1, 7.) 000 0p; & dom(T)
000000 31000T0{p; : o}epr : o000 {p; : 7o} >e, : Code(r, — m,7.) O
O0000GetNextCode OO ODOOOe, = denv' Xarg e 0000000000000
00 3100000 350000000 Ifp, : 5} 000000M = I(F{p : (eae)}
Onil0e;) 0000000 4000 5000 6000000 DOOODOOOOOODOO
T{p1 : o} > I(F{p1 : (eq,e)},nil,ey) - m OO0000O0O0D0O00000O0OD et py =
Apply(x1,x9) in I(F{p; : (ea,e)},nilye;) :mm OO0O0O00OOT > I(F, A, Apply(x1,29)) : 11
ogoooon

GetNextCode(xy,29,F) # e 00 0n > 20000 0GetNextCode(zy,xs, F) = e,0
A= (p,e) m AADDOOOA = (pg,ea) -+ (ppyep) mnil 000000000000
O000I(F, A, Apply(xy,z2)) = let py = Apply(z1,22) in [(F{p1 : (ea,€)},A'ye;) OO
00 GetNextCode 0 0000000 74,7, 7. 00007 = (1, > 1) x.000l>e, :
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Code(r, = 1, 7.)0000p ¢ dom(I)DD0D0O000 310000{p; : 7o} >p1 & 7o
000 p: : 7o} >pe, : Code(r, = m,7.) 000000 GetNextCode DO OO OD0e, =
Aenv' Aarg' 0 00000000000000 3.100000 340000000 T0p;:70}
00D000M = I(F{p: : (ea,e)}0A'0e;) 00DDOO0DO 1000 2000 30000
00 0000000000000 {p1:}>I(F{p:: (e,e)},Aer) 7, 0000000
000000007 >let pp = Apply(x1,x2) in I(F{p; : (eq,2)},A'ye1) : 7, OO DO OO0
I'>I(F, A, Apply(z1,20)) : 7, D00 OO0

Oeg =1tf « then e, else e, 1 0 [

A = (p1,e1) :: (pa,€2) -+t (Pnyen) nil (n>1)OT>if o then e, else e, : 7o 000
T{py :mo}ver i, T{p1 7o, pa:mitpes:mo, ... ,T{p1:7, ... ,pn:Thoa e, i, 0000
O0000000000>z : boolll'>e, : ToI'>e, : o U O OO0 0O0OOO00O 3.5000
O000Tr000000M =I(FOnilOe,)DO0OD0O0OO 4000 5000 6000000
0000000000000 I(F,nile,):0000000000T>I(F,nil,ep): 170
O0000000000000000000TCif xthen I(F,nil,e,) else I(F,nil,ep) : 9
0000000 AD0DO0OOODDODOnO0O0DODOOOOO0DDODOOO0

n=100000A= (p,e1) nADODOO0A =nll000000000O 3100000
3./50000000{p;: 7} 000000M =1(FOnilOe) D000 D00O0O 4000 50
00 6000000 0000000000000 p;:7}>I(Fynil,e;):n 00000
0000000000 >let py =if xthen I(F,nil,e,) else I[(F,nil,ep) in I(F,nil,e;) :
nO0000000000000000000I(F,A,if © then e, else e,) = let p; =
if xthen I(F,nil,e,) else [(F,nil,ep) in [(F,nil,e;) OO0 O OCSI(F, A,if x then e, else ep) :
A000000

n>20000 A’ = (pg,e9) it -+- 2 (pnyep) il 000000000 3100000
34000000070 {pm:7}000000M =I1(FOAQe;)) 0000000 1000 20
00 3000000 0000000000000 py :m}>I(F A'e): 7, 00000
0000000000 let py =if x then I(F,nil,e,) else I(F,nil,e) in I(F, A’ e;) :
, 0000000000000000000I(F,A,if x then e, else e,) = let p; =
if xthen I(F,nil,e,) else I(F,nil,ep) in [(F,A',e;) OO0 OTSI(F, A,if x thene, else eyp) :
- 000000

Oey=letx=e€e, tn e, 000

A = (p1,e1) 2 (pa,e2) -+t (Pnyen) mmil (n>1)00plet x =€, ine 70000
C{p :mo}ver :m, Tf{pr:mo,pe:m}re:im .. , T{p1:7, ... ,Dn:Tna}ben:T,
O0000000000000000I(F, A let z =e,in ey) = I[(F,(x,ep) 2 Aye,) 00
000000000000000 70000 be, 70000 {z:7}be:7n0000
rgdom(D) 000000 31000 {x:7}>ep:m, {z:mpr:mtre tm, {z:
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TayP1:TosD2 :TipD ey Ty oo L{x 7,171, oo sDn a1} Pe 7, 00000000
00 340000000T000000M =I1(FO(z,e) = Alle,) 0000000 100
02000 3000000 0000000000000TC0>I(F,(z,e) :: Ayeg) 1,00
O00O0OC>I(F,Ajletx=e,ine):7, 000000

el 350000
M=I1(F,Ae)0 0000000000000, 00 000O0DOO0OOOODOOOO
goo

Oeg=cO00
I[>e:0000000000000000I(F,nil,c)=c000000T>I(F,nil,c):
gooooo

Deo =000
I'bz:7,0000000000000000I(F,nil,z)=2000000T>I(F,nil,z):
000000

De(): (iB]_,;Bz)DDD
I'>(x,20) 7o 0000000000000000I(F,nil,(x1,29)) = (21,72) 000
0000 s I(F i, (x1,22) : 000000

ODeo =000 (i=1ori=2)
Teafi] i 0000000000000000[(F,nil,z[i]) = 2[i]000000TC >
I(Fnil,zi]) : 000000

0eg = Aenv.Aarg.eJ 00

00 7T, To, Tenoe D0 00T > Xenv. darg.e : 7 0 0 0O 19 = Code(1, — Ty, Tenp) D00 00
0000000000 {env : Tu,arg: T} be:n 0000000000 350000
000 {env : Tenp,arg : 7, DOODOOO0OM =I(00nil0e) 0000000 4000 500
06000000 D0O0O0U0D0O0O000O00{env : Tepy,arg : 7.} > I(0,nil,e) : 7, O
000000000000 Aenv.dargI(@,nile): 0 000000000000000
I(F,nil, \env.Aarg.e) = Xenv.Aarg.I(D,nil,e) 0 00 00 OT > I(F,nil, \env.\arg.e) : 1
ooooon

Oeg = Af.Aenv.Aarg.e] 00

OO0 7T, Toy Teno D0 OO T > Af.Xenv. Aarg.e : 7o O 0 O 19 = Code(Ty — Tpy Teny) 0 0 0 0
O0000000000{f : m,env : Tep,arg : T,}>e:7 00000000000 35
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0000000 {f:7y,env: Ten,arg : T, 00 0000M = 1(00nil0e) 000000
04000 5000 6000000 000000000 0O0O0O0O{f: 7,env : Tepy,arg :
.} >I(0,nilye) : m 000000000000 > A Aenvdarg.I(D,nile) : 0000
000000000000 I(F,nil, \fAenv. arg.e) = Af.denv  arg.I(0,nil,e) 0000
000> I(F,nil, \f.Aenv.Aarg.e) : 7o 000000

O eq = Closure(zy,z2) 000
['>Closure(zy,x) : 7o D0 000000000000O0O0OI(F,nil,Closure(xy,zs)) =
Closure(xy,22) D00 000> I(F,nil,Closure(xy,z2)) : o 000000

Oeq = Apply(z1,x2) 000
isInline(Apply(z1,20)) 000 0000000000000

i) isInline(Apply(z1,x2)) = true 0 0 0
T Apply(x1,25) 7o 00 000000000000000 7o I, 00 00T >y 2 (7, —
70) X Tony DO OT 25 : 7, 00 0 Dislnline 0 00000y € dom(F) D000 Flay) =
(eq,env) 000000000 >e, : Code(T, = Ty, Teny) D0 0000 e, = Aenvy. Aarg;.e
0000000 replaceVar Name(Aenvy. Aarg;.e) 00 00 0O O Aenvg. Aargq.e' 00 000
replaceVarName D0 0000 320007 > Aenvg. Aargs.e’ @ Code(t, — To, Teny) U
00000000000 000 {envy : Tem,args : Tl be' : 0000000000
envy & dom(T') 00 0argy ¢ dom(I)0 0000000 3.1000T0{envy : Teny,args :
raY>e 0T {envy : Tuny} b2 : 7, 00 0000000000000 0 3.30000 {env, :
Tenv } > €' [xa/args] : o 0 00O

O000env0O00000000000Oenv =ec0000env, €dom(I)0000000
00310000 350000000 I'{envy : Ten, } 0 0000 OM = [(FOnilOe [zy/args))
0000000 4000 5000 6000000 D0D0O0OO0OO0ODOOOO0OO0O0Nenw; :
Tenw } > L(Fynil,€'[xs/args]) : o 00 0000000000000 > 24[2] : Ten, 00O
000 > let envg = x41[2] in I(F,nil,e'[xe/arg]) : 0 0000000000000
O0000000I(F, A, Apply(xy, x3)) = let enve = x1[2] in I(F,nil,e'[xy/argy]) 00 00O
> I(F,nil, Apply(z1,29)) : 7o DO OO 00O

O00env #4#e00000000000env0000000r>eny : 7, 0000000
0 3.30000>€ [x2/arge, env/envy] : 0000000000000 350000000
roo0ooo0M =I(FOniOe [xe/args, env/envy]) DO OO OO0 4000 5000 6
000000 0000000000 000CsI(F,nil,exs/args, env/envy]) : 7o 0 00 O
O000000000000000I(F, A, Apply(zy,xs)) = I(F,nil, e'[xy/args, env/envs))
00000 > I(F,nil, Apply(z1,29)) : 7o D00 00O

ii) isInline(Apply(z1,x2)) = false 00 O
IeApply(zi,22) : 7000000000000 000OI(F, nil, Apply(x1, x2)) = Apply(x1, x2)
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000000 I(F,nil, Apply(z1,29)) : o D0 0000
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